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G.SRT.D.11: Law of Sines 1

1 The accompanying diagram shows the approximate

linear distances traveled by a sailboat during a race.

The sailboat started at point S, traveled to points £
and 4, respectively, and ended at point S.

32 Miles

Based on the measures shown in the diagram,
which equation can be used to find x, the distance
from point 4 to point S?
X sin 75° sin65°  sin75°
D sin65° 32 2) x 32
x 32 65 32

) %5 7 Y YT

2 In APQR, p equals
rsinP rsinP rsinR gsinR
D Sno 2 Sk P snp P Tno

3 InAABC, m/ZA4 =40, m£C =65, and ¢ = 12.
Which is a correct expression for a?
) 12 sin40° 2) 12 sin 65° 3) 12 sin 65°
sin75° sin40° sin75°
12 sin40°
4 sin 65°

4 In AABC,m/A =75, m/B=40and b = 35.
What is the measure of side ¢?
) 35sin40° 2) 35sin75° 3) 35smn40°
sin 65° sin40° sin75°
35sin 65°
4 sin40°

Name:

5 In AABC, sind = % and sinB = % 2. The value

oféis
a

1)%2)23)«/54)%«/5

6 In triangle RST, what is the value of 7 in terms of
R, T, and ¢?

-
S r
R
t
S

tR t-sinT sinT
Dor=72 nR > "= 7 sinR

t-sinR

4 r= sinT

7 In triangle ABC, sind = 0.8, sinB = 0.3, and a = 24.
Find the length of side b.

8 In ARST,sinR=0.6,sinS = 0.4, and side s = 16.
Find the length of side 7.

9 In AABC,sind = %, sinB = %, and b = 6. Find

side a.
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In triangle ABC, sin4 = %, sinB = %, and a = 16.
Find b.

In triangle ABC, sin4 = 0.3, sinB = 0.4, and a = 6.
Find b.

In triangle ABC, sin4 = 0.3, sinB = 0.4, and a = 12.
Find b.

In AABC, sind = %, sinC = %, and a = 12. Find

the length of side c.

In AABC, sind = %, sinC = %, and a = 18. Find c.

In AABC, a =10, sin4 = 0.30, and sin C = 0.24.
Find c.

In AABC, sind = %, sinB = %, and side a = 20.
Find side b.

In AABC, a = 12, sin4 = 0.45, and sin B = 0.15.
Find b.

In AABC,a =2,s8inA = %, and sinB = % Find the

length of side .

In AABC, sind = 0.3, sinB =0.8, and b = 12. Find
the length of side a.
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In AABC, sind = %, sinB = %, and b = 20. What

is the length of a?

In AABC, a =24, sind = %, and sinB = % Find b.

In AABC, side a = 18, sind = 3 and sinB = 2

4 b
Find the length of side b.

W

In AABC, sind:sinB:sinC = 4:5:6. Find the
value of ¢ when a = 10.

In AABC, m/A = 45, m/B = 30, and side a = 10.
What is the length of side b?

1) 542 2) 543 3) 1042 4) 1043

In AABC, sind = %, b =20, and m/B = 45. What

is the length of side a?

10/3

D 53— 2 10 3) 1042 4) 2042

In AABC, sind = %, mZB =30, and ¢ = 12. What

is the length of b?

In ARST, sinT = %, mZR =30, and » = 15. What

is the length of #?
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The Law of Sines may also be written as
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